DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH A REMAINDER Name:
Time: Score: A
331 43733 +5 = 36) 912 + 1 =
332) 24546 + 6 = 1 16403 +2 =
333 HH08 +1 = 38 18220 =4 =
331) 590988 = 9 — 319) 21269 = 3 =
335) 68756 + 7 = 350) 13784 + 10 =
336) 73834 + 8 = 1) 8669 + 2 =
337) 20897 + 3 = 352) 57735 +6 =
338) 53618 + 6 = 353) 4682 + 3 =
3390 2509 + 1 = 59 71973 +9 =
310) 15483 +8 = 355) 37152 +4 =
) 6123 +3 = 356) 20085 + 8 =
320 17909 — 3 = 357 48552 = 9 =
33) 1082 =7 = 308) 220694 + 4 =
314 48734 + 9 = 359) 87395 +9 =
3150 20156 = 5 = 3600 99120 = 10 =
Mathematics: Division - Level § - Horizontal - Set 1 13 uluy
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